4 4 9 00 5 9 00 131 | 1.65 /ma
4 3 9 00 4 9 00 131|057 /m3
4 2 9 00 3 9 00 131|032 /mé
4 1 9 00 2 9 00 131|035 /mé
3 31 9 00 9 00 131|034 I3
4 4 9 00 5 9 00 134 | 0.11 Im3
4 3 9 00 4 9 00 131 1088 /m?
134 | 0.098 /mé
4 2 9 00 3 9 00 181 1072 fm?
134 | 0.070 /mé
4 1 9 00 2 9 00 131|044 /mé
3 31 9 00 9 00 131|026 /3
4 3 9 00 4 9 00 131|081 /mé
131 | 285 /mé
4 2 9 00 3 9 00 134 0.16 /mé
137 | 0.11 I3
4 1 9 00 2 9 00 131 |0.40 /mé
3 31 9 00 9 00 131|025 /ma
4 5 9 00 6 9 00 131 |43 I3
4 4 9 00 5 9 00 131 |32 Im3
4 3 9 00 4 9 00 131 |16 I3
3 31 9 00 1 9 00 131 |0.96 /mé




